Soluhons

Oct. 28th: 11.1: Sequences
Warm-Up

1 Determine the limit of each of the following sequences or show that it diverges.

g q.=T1 \\m nyl\ m -
a. an o 3w " = “qw\"(/f\. \

0% .
b. by, = -sm(wn) o \|\ |h\ ) \ d\qQIY%QS

! " W \
C. € = T \\M n' \\ ._p___ \ g -
(n+1)! N3 v CV\'\\\\ navw N (V\'\\\ e V\'\\ O

In-Class Exercises

1. (Clicker) For which values of r does the sequence {a,} defined by a,, = r" converge?
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2. Determine whether the sequence converges or diverges. If it converges, find the limit.
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